The following conditions may lead to shock except:
a. Penicillin injection.

b. Myocardial infarction.

C. Quinsy.

d. Loss of 8% blood volume.

€. None of the above.
Answer D

As regard vasovagal attacks all are true, except:

a. Usual course is trauma to trigger area.

b. Psychic trauma is a recognized cause.

C. Atropine is the gold standard treatment of the condition.
d. Usually there is peripheral pooling of blood.

Answer C

In hemorrhagic shock peripheral vascular resistance:
a. increase.

b. Decrease.

C: Remain constant.

d. Any of the aDOVE.
Answer A

The Incriminated organism In septic shock may be:
a. Gram +ve bacteria.
b. Gram -ve bacteria.

C. Candida albicans.

d. Any of the above.
Answer D

The most effective treatment of anaphylactic shock ls:
a. IV antihistaminic.

b. v corticosteroids.

C. IV antibiotics.

d. Intracardiac adrenaline.

Answer B



Secondary hemorrhage Is usually due to:
a. Trauma
b. Slipped ligature

c. infection .
d. All of the above

Answer C

The most urgent measure in the management of a severely injured patient in
the reception room is:
a. Control of active bleeding.

Taking blood simple for grouping and cross matching.

b.

C. Establishing an intravenous line.

d. Securing clear airway and adequate pulmonary ventilation.
e.

providing tetanus prophylaxis.
Answer D

Hypovolemic shock is not characterized by
. Tachycardia.

. Hypotension.

. Pallor.

. Collapsed veins.

O QO TD

. Generalized vasoconstriction.

Answer E

The essential pathophysiological disorder in all types of shock is
d. Hypotension.

b. Tachycardia.

C. Viscero-cutaneous vasoconstriction.

d. impaired tissue perfusion.

€.. Reduced blood volume.
Answer D

26. The hyperdynamic phase of septic shock is characterized by the following
signs except:
ad. Hyperventilation.

Hypotension.

b.

C. Tachycardia.
d. pale cold extremities.
e.

Oliguria.



Answer D

Septic shock responds best to
ad. Massive antibiotics.

b. intravenous infusion.

C. Adrenocortical steroids.

d. Drainage of septic collections.

€. Vasopressors.

Answer D



